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1 Offline email discussion

The following initial proposals for addressing issue#2 and issue#3 in [R2-2103361] are more technically specific, but missing dependences:
Proposal 2: For UE in RRC_INACTIVE, if extended DRX value of 512 radio frames is configured by upper layers according to 7.3, T is determined by the shortest of the RAN paging cycle and 512 radio frames.

Proposal 3: To separately describe DRX cycle T determination for PF calculation and for PNB, i_s and wg calculation. The legacy description is still applicable to DRX cycle T determination for PF calculation. But for PNB, i_s and wg calculation, the DRX cycle T determination should follow RRC_IDLE mode rule. E.g.:

· If extended DRX is not configured, T is determined by the shortest of the UE specific DRX value, if allocated by upper layers, and a default DRX value.

· If extended DRX is configured, T is determined by the shortest of the UE specific DRX value, if allocated by upper layers, and a default DRX value during the PTW as defined in 7.3, and by the RAN paging cycle outside the PTW. 
The new proposals in [R2-2104385] are as following with intention to address both of issue#2 and issue#3:
Proposal 2: For UE in RRC_INACTIVE, to separately describe DRX cycle T determination for the following three cases: eDRX cycle is not configured, eDRX cycle with 512 radio frames is configured, eDRX cycle is configured and the value is not 512 radio frames. 

Proposal 2a: For each of above cases, to separately describe DRX cycle T determination for PF calculation and for PNB, i_s and wg calculation. The legacy description is still applicable to DRX cycle T determination for PF calculation. But for PNB, i_s and wg calculation, the DRX cycle T determination should follow RRC_IDLE mode rule.

Proposal 3: For R15 UE in RRC_INACTIVE, to separately describe DRX cycle T determination for PF calculation and for i_s calculation. The legacy description is still applicable to DRX cycle T determination for PF calculation. But for i_s calculation, the DRX cycle T determination should follow RRC_IDLE mode rule.

Proposal 4: Send LS to RAN3 to indicate that other ng-eNB(s) (except the anchor ng-eNB) in the RAN paging area needs the information about the UE eDRX cycle, possible UE specific DRX cycle and the used RAN paging cycle. If not, other ng-eNB(s) cannot calculate the correct value for PNB, PF, i_s and wg and paging would be failed.
With reference to above previous proposals, companies are invited to give your suggested proposals according to your preferred solutions for issue #2 and issue #3:

	Company
	Suggested stage-2 proposals

	ZTE
	We suggest the following proposals:
Proposal 2: For UE in RRC_INACTIVE, if extended DRX value of 512 radio frames is configured by upper layers according to 7.3, T is determined by the shortest of the RAN paging cycle and 512 radio frames.
Proposal 3: To separately describe DRX cycle T determination for PF calculation and for PNB, i_s and wg calculation. The legacy description is still applicable to DRX cycle T determination for PF calculation. But for PNB, i_s and wg calculation, the DRX cycle T determination should follow RRC_IDLE mode rule. The agreement from proposal 2 should be further taken into account.
Proposal 3a: For R15 UE in RRC_INACTIVE, to separately describe DRX cycle T determination for PF calculation and for i_s calculation. The legacy description is still applicable to DRX cycle T determination for PF calculation. But for i_s calculation, the DRX cycle T determination should follow RRC_IDLE mode rule.
Proposal 4: Send LS to RAN3 to indicate that other ng-eNB(s) (except the anchor ng-eNB) in the RAN paging area needs the separate information about the UE eDRX cycle, possible UE specific DRX cycle and the used RAN paging cycle. If not, other ng-eNB(s) cannot calculate the correct value for PNB, PF, i_s and wg and paging would be failed.
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